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Relativité restreinte

1 Addition des vitesses

(a) Un TGV (très rapide !) voyage à une vitesse constante V = 50000 km/h par rapport à la
surface de la Terre. À l’intérieur du train, un voyageur marche dans la même direction que
le sens de la marche du train à une vitesse v = 5 km/h par rapport au train. Quelle est
l’erreur relative que vous commettez en utilisant la loi d’addition des vitesses de Galilée
au lieu de celle d’Einstein pour déterminer la vitesse du voyageur par rapport à la surface
de la Terre ?

(b) Supposez que vous soyez capable de courir dans le couloir d’un train à la moitié de la
vitesse de la lumière. Le train voyageant à une vitesse de 3c/4, quelle est votre vitesse par
rapport au sol ?

(c) Alors que des malfaiteurs s’échappent à l’aide d’une voiture allant à une vitesse de 3c/4,
des policiers tirent en direction des malfaiteurs à bord d’une voiture n’ayant que la vitesse
c/2 (cf. Fig. 1). La vitesse de la balle est de c/3 par rapport au pistolet. Est-ce que la balle
attend sa cible (i) d’après Galilée, (ii) d’après Einstein ?
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Problem 12.2 As an illustration of the principle of relativity in classical mechanics, consider
the following generic collision: In inertial frame S, particle A (mass mA, velocity UA) hits
particle B (mass mB, velocity UB). In the course of the collision some mass rubs off A and
onto B, and we are left with particles C (mass me, velocity ue) and D (mass mD, velocity
UD). Assume that momentum (p == mu) is conserved in S.
(a) Prove that momentum is also conserved in inertial frame S, which moves with velocity v
relative to S. [Use GaIileo's velocity addition rule-this is an entirely classical calculation.
What must you assume about mass?]
(b) Suppose the collision is elastic in S; show that it is also elastic in S.

Problem 12.3
(a) What's the percent error introduced when you use Galileo's rule, instead of Einstein's, with
VAB = 5 milh and VBe = 60 mi/h?
(b) Suppose you could run at half the speed of light down the corridor of a train going three-
quarters the speed of light. What would your speed be relative to the ground?
(c) Prove, using Eq. 12.3, that if vAB < c and vBe < c then vAe < c. Interpret this result.

Figure 12.3

Problem 12.4 As the outlaws escape in their getaway car, which goes the police officer
fires a bullet from the pursuit car, which only goes !c (Fig. 12.3). The muzzle velocity of the
bullet (relative to the gun) is Does the bullet reach its target (a) according to Galileo, (b)
according to Einstein?

12.1.2 The Geometry of Relativity
In this section I present a series of gedanken (thought) experiments that serve to introduce
the three mOst striking geometrical consequences of Einstein's postulates: time dilation,
Lorentz contraction, and the relativity of simultaneity. In Sect. 12.1.3 the same results will
be derived more systematically, using Lorentz transformations.

(i) The relativity of simultaneity. Imagine a freight car, traveling at constant speed
along a smooth, straight track (Fig. 12.4). In the very center of the car there hangs a
light bulb. When someone switches it on, the light spreads out in all directions at speed
c. Because the lamp is equidistant from the two ends, an observer on the train will find
that the light reaches the front end at the same instant as it reaches the back end: The two
events in question-(a) light reaches the front end and (b) light reaches the back end-
occur simultaneously. However, to an observer on the ground these same two events are not

Fig. 1: c© D. J. Griffiths

2 Décroissance des muons

Des particules élémentaires appelées muons sont créées dans la haute atmosphère lorsque
des rayons cosmiques frappent des molécules d’air. Les muons ont un temps de vie moyen
de τ̄ = 2× 10−6 s mesuré par rapport au référentiel du muon, et voyage à une vitesse proche
de celle de la lumière. Supposez pour simplifier qu’un muon est créé à 50 km au-dessus de
la surface terrestre et que ce muon voyage en ligne droite sans rencontrer quoi que ce soit en
direction du sol à une vitesse de 0.99998 c. Est-ce que le muon atteind le sol avant qu’il ne
décroisse ?

3 Paradoxe des jumeaux

À son 21e anniversaire, une astronaute prend une navette spatiale qui s’éloigne de la Terre à
une vitesse de 12c/13. Après que 5 années soient passées à sa montre, elle fait demi-tour et
rentre sur Terre à la même vitesse afin de rejoindre son frère jumeau qui est resté à la maison.
Quelle est l’âge des deux jumeaux lorsqu’ils se rencontrent ?

4 Mercedes vs 2CV

Une Mercedes est, au repos, deux fois plus longue qu’une 2CV. Alors qu’une Mercedes dé-
passe une 2CV, un policier (fixe par rapport au sol) observe que les deux voitures ont la même
taille. La 2CV a une vitesse égale à la moitié de la vitesse de la lumière. Quelle est la vitesse
de la Mercedes par rapport au sol ?



5 Mât de bateau

Un bateau à voile est construit de telle sorte que son mât fasse
un angle θ̄ par rapport au pont du bateau. Un observateur se
situant au port voit le bateau passer avec une vitesse v (voir Fig.
2). Quel est l’angle que fait le mât avec le pont du point de vue de
l’observateur ?
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which is the inescapable conclusion. There cannot be a law of contraction (or expansion)
of perpendicular dimensions, for it would lead to irreconcilably inconsistent predictions.

Problem 12.9 A Lincoln Continental is twice as long as a VW Beetle, when they are at rest.
As the Continental overtakes the VW, going through a speed trap, a (stationary) policeman
observes that they both have the same length. The VW is going at half the speed of light. How
fast is the Lincoln going? (Leave your answer as a multiple of c.)

Problem 12.10 A sailboat is manufactured so that the mast leans at an angleewith respect to
the deck. An observer standing on a dock sees the boat go by at speed v (Fig. 12.14). What
angle does this observer say the mast makes?

R

Figure 12.14 Figure 12.15

Problem 12.11 A record turntable of radius R rotates at angular velocity w (Fig. 12.15). The
circumference is presumably Lorentz-contracted, but the radius (being perpendicular to the
velocity) is not. What's the ratio of the circumference to the diameter, in tenns of wand R?
According to the rules of ordinary geometry, that has to be If. What's going on here? [This
is known as Ehrenfest's paradox; for discussion and references see H. Arzelies, Relativistic
Kinematics, Chap. IX (Elmsford, NY: Pergamon Press, 1966) and T. A. Weber, Am. J. Phys.
65,486 (1997).]

12.1.3 The Lorentz Transformations
Any physical process consists of one or more events. An "event" is something that takes
place at a specific location (x, y, z), at a precise time (t). The explosion of a firecracker,
for example, is an event; a tour of Europe is not. Suppose that we know the coordinates
(x, y, z) of a particular event E in one inertial system S, and we would to calculate the
coordinates (x, ji, Z, 1) of that same event in some other inertial system S. What we need
is a "dictionary" for translating from the language of S to the language ofS.

Fig. 2: c© D. J. Griffiths

6 Addition des vitesses et transformations de Lorentz

À l’aide des transformations de Lorentz, justifiez de la formule d’addition des vitesses que
vous avez utilisé dans l’Exercice 1.

7 Madame Irma

Madame Irma, clairvoyante, crie de douleur précisément au même moment où son frère ju-
meau, à 500 km de là, s’écrase le pouce avec un marteau. Albert, un scientifique sceptique,
observe les deux événements (le cri de Mme Irma & l’accident de son frère) d’un avion voya-
geant vers la droite à la vitesse de 12c/13 entre le frère et Mme Irma. D’après Albert, quel
événement a lieu en premier ? Vous exprimerez le résultat final en secondes.

8 Énergie au repos

Calculez l’énergie au repos d’un électron et d’un proton. Exprimez votre résultat en eV. On
rappelle que la masse au repos d’un électron et d’un proton sont me = 9.11 × 10−31 kg et
mp = 1.67× 10−27 kg, respectivement.

9 Billard relativiste

Une particule relativiste de masse m et d’énergie E approche d’une
particule identique au repos. Les deux particules s’entrechoquent de
façon élastique (c’est-à-dire que la masse est conservée) de telle sorte
qu’elles sont diffusées avec un angle θ égal (voir Fig. 3). Déterminez
θ en fonction de E, m et c. Discutez les cas limites non-relativiste et
ultra-relativiste.
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The 4-momentum for a collection of particles consists of the total E and total
p of all the particles. There are deep reasons for considering the 4-momentum,
as we’ll see in Chapter 13, but for now we’ll just view it as a matter of conve-
nience. If nothing else, it helps with the bookkeeping. Conservation of energy
and momentum in a collision reduce to the concise statement,

Pbefore = Pafter, (12.34)

where these are the total 4-momenta of all the particles.
If we define the inner product between two 4-momenta, A ≡ (A0, A1, A2, A3)

and B ≡ (B0, B1, B2, B3), to be

A · B ≡ A0B0 − A1B1 − A2B2 − A3B3, (12.35)

then the Very Important Relation in Eq. (12.11), E2 − p2 = m2, which is true for
one particle, may be concisely written as

P · P = m2, or P2 = m2, (12.36)

where P2 ≡ P · P. In other words, the square of a particle’s 4-momentum equals
the square of its mass. This relation will prove to be very useful in collision
problems. Note that it is frame-independent, as we saw in Eq. (12.29).

This inner product is different from the one we’re used to in three-dimensional
space. It has one positive sign and three negative signs, in contrast with the usual
three positive signs. But we are free to define it however we wish, and we
did indeed pick a good definition, because our inner product is invariant under
Lorentz transformations, just as the usual 3-D inner product is invariant under
rotations. For the inner product of a 4-momentum with itself (which could be
any linear combination of 4-momenta of various particles), this invariance is
the statement in Eq. (12.29). For the inner product of two different 4-momenta,
we’ll prove the invariance in Section 13.3.
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Fig. 12.7

Example (Relativistic billiards): A particle with mass m and energy E
approaches an identical particle at rest. They collide elastically8 in such a way that
they both scatter at an angle θ relative to the incident direction (see Fig. 12.7). What
is θ in terms of E and m? What is θ in the relativistic and nonrelativistic limits?

Solution: The first thing we should do is write down the 4-momenta. The
4-momenta before the collision are

P1 = (E, p, 0, 0), P2 = (m, 0, 0, 0), (12.37)

8 An elastic collision in nonrelativistic physics is defined as one in which no heat is generated. In
relativity, heat shows up as mass. So an elastic collision in relativistic physics is defined as one in
which none of the masses change.

Fig. 3: c© D. Morin
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